Machine
guarding

Smart Fix




Smart Fix System

Kit Bracket SMF 34700074

Kit SMF T-Crossing 3s90s000

X2
M8x28

Kit Corner Bracket Threaded 3¢700097

Expander 59050090

M10x80

2/10

www.troax.com

r.03

Art no: 88754235 ve



00zt

5600

oozt ___—————

St )
§ J-1D

o {0 mbes)

¥
E
Max 30 Nm

@10

17 mm

:

Kit Bracket SMF e

Expander
]

04

6-7
Nm

'\mc@ﬁ -

13mm

Art no: 88754235 ver. 03

www.troax.com



€0 oA GEZYS /88 10U WY

Kit Bracket

SMF

SMF

www.troax.com

4/10



Kit Bracket

Art no: 88754235 ver. 03

5/10

www.troax.com



€0 oA GEZYS /88 10U WY

Kit Bracket

SMF

M8x28

M8x28

i

m Kit SMF T-crossing

www.troax.com

6/10



€0 491 GEZYG/88 0U WY

Kit Corner
Bracket

M8x28

8x12

Py
\\

ﬁ

5mm

o

www.troax.com

7/10



€0 19N GECYS/88 ou HY

www.troax.com

13mm

§M8x28
BN
k)

Kit Corner
Bracket
Threaded




€0 491 GEZYG/88 0U WY

:

Kit Bracket

N T

www.troax.com

9/10



Yy

i ihHHHHH\HHHH\HHIHHHHHﬂ'@‘
Wkt HHHUH\IHHHHHHH\HI
|mmummmwmmmw
e

7

03
r.
88754235 ve
o:

Artn

om
ww.troax.c
w

0

10/1



